Summer Math
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3.

&
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6.
o,

é

6x3=

How many ears do eight dogs Kave in all?

Hn+2=7thenns=

There were eight bugs on the ground, Now there are six.

How many flew away?
2x3x2:

4x6+___ =31
3,6,9,12, —

Seven bicycles have wheels in ail,

Use <, >, or = to complete questions 9 and 10.

g
70,

3 weeks _... 20 days

1 em 1in,

MGl Math Mirwies © 2000 Creative Teackite Pross




B % N D & oA

70,

S ebhm=

Four dollars equal

2+Hel=

5+8-3=

pa—

i
2

pennies.

0,4, 8,12, ,

The product of four and threeis .

The gum of five and four is




e

APAneE

#, The product of 4 and 6 is
& 2465x0=

1,10,2,9,3,

3+4e3=

How much does gach apple cost?

3.
4.
S
6 s46:3-
z
é
g,

5+(3-1)=

f Qf; The difference between 9 and 5 is

Middle-Grade Mtk Miriites © 2000 Creative Teaching Press
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6.

1,5,9,13 , ,

10-42=

B4 +1=

Does Ellen spend more time
on homework or sports?

del+5e] =

For questions 7-10, use a =2, b =3, and ¢ = 6.

8.
.
70,

a+b=

ae =

k=2

A

44

ez

o st
e




Aame

For questions 1-5, use # = 8, b = 2, and ¢ =%,

A
2

& N & 6 A o
MR

9

70,

a+b=

b+e=

ab =

i =

If

1! 2‘! 4/ 8!

The sum of 8 and 7 is

The difference between 9 and 3 is

10~3e3=

2

Maddle-Grade Matk Minutes @ 2000 Creafive Teaching Press



ss=2y SURRET, SABREID) (DT D SR YW SHLA-TIRTEN

W N

% N ™ O A

S
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Which numbet is in both A and B?

10-502=

6% =

lefjeiols

1

g:'

Cirele the answer that is equalto 5 ¢ 5 5

a.5x3

34+5=

b.3x5

e 5

d. 3°

3

g

py
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70,

SadbIGANELNSIO NG AR AR A R Y Y N Y YN RS ] e

82

426 =

A trio and a quartet got together and played a song. How many
musicians were there?

24+3e34+2=

2136

Cixcle the answer that is equal to 4%
adoded b.4+3 c.4+3 d.3e3e3e3

RN
1

I
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Circle the answer that is equal to 5% '
a.5x3 b3¢3e3e63e¢3 3x5 d5e5el

- If8+y=15theny =

b+3e2=

Scott ate half of the pizza,
How many pieces did he eat?

35 '
7 & sxu-
For questions 9 and 10, use 4 = 5and b = 2, 1
Q_ ab =
f @; b=

s
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70,

72 =

I 4y = 24, then 7 =

15
3

54 +2)=

iy
(U‘

6442 =

Ifs-8=9, thens=

45 g; P

x45

If there are fifty dimes in a roll of coins,
then it is equal to dollars,

The pxoci11ct of eight and nine is

76
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For questions 8-10, use a4 =5, b =4, and ¢ = 2,

4

(4 + 47 =

The quotient of BW is K

One half of fifty is __ .

128, 64, 32, 18, ‘

256 ¢ 0=

-

ac =

4




